Answers to 2011 lecture test 2

1.  2.1 x 10-4     2.  3.9 x 10-8     3.  1. 8 x 10-3   4  C  5.  A

7  0      8  -     9  -     10  +    11  -   12  -    13  D   14  B    15  22 J/mol K

16.  4.97     17.  0.14    18.  0.020 M     19.  0.199 M   20. 9.26     21.  9.28

22  C    23   C      24    C

I.   Q = 5.12 x 10(12 which is less than Ksp, so no precip.

II.  ( G°  = -1324.47 kJ/mol    (H° = (1366.85 kJ/mol

(S° = -142 J/molK     B.  S°  of   Oxygen is 206 J/mol K

III.  A  pH = 0.398      B.  pH =1.24   c  pH = 7

IV.   pH = 3.92     B.  3.92     C.  pH = 3.74      D)  ( E.C.)  0.86 grams

V.   K = 2.6 x 1033    B.   (G = (246 kJ

VI.   B.   pH = 11.41    C.  3.8 x 10(4  or 4.4 x 10-4   (both answers got full credit)

D.  14.4 %     E. 1. 30. mL     ii   10.58  or 10.64  (depends on answer to C)

iii.   2.70

VII.  A Lewis acid is an electron pair receiver.  The silver ion is the acid because it receives an electron pair from the ammonia

VIII. Sodium carbonate forms a basic solution.


CO32(  +  H2O   (  HCO3(   +   OH-

base         acid            acid              base

CuCl2  is acidic,  NH4NO3  is acidic, and CaBr2 is neutral
